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Cuadro 13 (continuación 3)/Table 13 (continued 3)
Honduras: tablas abreviadas de mortalidada

Honduras: abridged life tables 
a

1980

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.085 0.080  100 000  8 017  94 257 0.901 b 5 748 261 57.5
1 4 0.013 0.049  91 983  4 514  356 195 0.964 c 5 654 005 61.5
5 5 0.003 0.014  87 468  1 249  434 219 0.989 5 297 810 60.6

10 5 0.002 0.009  86 219   747  429 229 0.989 4 863 590 56.4
15 5 0.003 0.013  85 472  1 081  424 658 0.985 4 434 361 51.9
20 5 0.004 0.018  84 391  1 502  418 199 0.979 4 009 703 47.5
25 5 0.005 0.024  82 889  1 957  409 549 0.974 3 591 504 43.3
30 5 0.006 0.029  80 931  2 361  398 753 0.969 3 181 955 39.3
35 5 0.007 0.032  78 570  2 548  386 480 0.965 2 783 202 35.4
40 5 0.008 0.038  76 022  2 870  372 934 0.958 2 396 722 31.5
45 5 0.009 0.046  73 152  3 384  357 299 0.947 2 023 788 27.7
50 5 0.012 0.060  69 768  4 186  338 374 0.929 1 666 489 23.9
55 5 0.017 0.082  65 582  5 398  314 413 0.900 1 328 116 20.3
60 5 0.025 0.120  60 184  7 208  282 899 0.860 1 013 702 16.8
65 5 0.036 0.164  52 976  8 686  243 162 0.806  730 804 13.8
70 5 0.051 0.229  44 289  10 143  196 088 0.736  487 641 11.0
75 5 0.073 0.311  34 146  10 602  144 223 0.617  291 553 8.5
80 5 0.130 0.488  23 543  11 489  88 994 0.462  147 330 6.3
85 5 0.194 0.635  12 054  7 652  41 141 0.333  58 336 4.8
90 5 0.268 0.756  4 402  3 327  13 694 0.227  17 195 3.9
95 5 0.346 0.843  1 075   906  3 110 0.112 d  3 501 3.3

100 ω 0.431 1.000   169   169   391   391 2.3
Mujeres/Females

0 1 0.069 0.066  100 000  6 552  95 206 0.916 b 6 178 147 61.8
1 4 0.011 0.045  93 448  4 168  362 979 0.968 c 6 082 940 65.1
5 5 0.002 0.012  89 280  1 063  443 742 0.990 5 719 961 64.1

10 5 0.001 0.007  88 217   635  439 496 0.991 5 276 219 59.8
15 5 0.002 0.010  87 582   874  435 723 0.988 4 836 723 55.2
20 5 0.003 0.014  86 708  1 185  430 576 0.985 4 401 001 50.8
25 5 0.003 0.017  85 523  1 474  423 929 0.981 3 970 425 46.4
30 5 0.004 0.021  84 049  1 793  415 760 0.977 3 546 496 42.2
35 5 0.005 0.025  82 255  2 063  406 119 0.973 3 130 736 38.1
40 5 0.006 0.030  80 192  2 402  394 956 0.967 2 724 617 34.0
45 5 0.007 0.036  77 790  2 828  381 881 0.959 2 329 661 29.9
50 5 0.009 0.046  74 962  3 457  366 169 0.944 1 947 780 26.0
55 5 0.014 0.066  71 505  4 693  345 794 0.921 1 581 611 22.1
60 5 0.019 0.093  66 812  6 225  318 499 0.887 1 235 817 18.5
65 5 0.029 0.134  60 587  8 133  282 603 0.840  917 318 15.1
70 5 0.042 0.189  52 454  9 913  237 487 0.778  634 715 12.1
75 5 0.060 0.262  42 541  11 136  184 864 0.662  397 229 9.3
80 5 0.114 0.442  31 405  13 886  122 310 0.502  212 365 6.8
85 5 0.176 0.598  17 519  10 477  61 403 0.364  90 055 5.1
90 5 0.250 0.731  7 042  5 149  22 338 0.248  28 652 4.1
95 5 0.331 0.829  1 893  1 569  5 543 0.122 d  6 314 3.3

100 ω 0.420 1.000   324   324   771   771 2.4

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


